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Insulin on Water Trials 1-3 Reproducibility

60 Human Insulin Trials 1-3 5-24-18 Reproducibility
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Insulin on ZnCI2 Trials 4-6 Reproducibility

Insulin on ZnCl2 Trials 4-6 Reproducibility
70

60

— Trial 4
Trial 5
— Trial 6

+a 1]
o (=]
L L

Pressure{mN/m)
w
[=]
!

20 4

10 A

T T T T
0 100 200 300 400 500
Area(Az/molecule)



A(drydA)

1=

Cs

Cs~! = _AldydA)

€571 = _A(dw/da)
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Insulin on CuCl2 Trials 1-3 Reproducibility

o Insulin on CuCl2 Subphase Trials 1-3 Reproducibility
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Insulin on MnCI2 Trial 1 5-31-18
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Insulin:DPPC 0.1:0.9 on Water Trial 1 6-27-18
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Insulin:DPPC 0.1:0.9 Reproducibility/ldeal Mixing
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Note: The trials with Insulin:DPPC had messed up graphs. They should be scaled by two since
the number of chains was set to 2 in the trough setup, making the resulting graph scaled by 7.
The Ideal mixing was graphed with corrected scaling.



Insulin:DPPC 0.2:0.8 on Water
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Note: | believe the probe might have been slightly stuck during this trial, notice the isotherm.

Insulin:DPPC 0.2:0.8 Ideal

Insulin:DPPC 20:80 Ideal Mixing
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Note: This was graphed using the uncorrected Insulin:DPPC graph, to correct, scale by 2.



€571 = —A(dm/dA)

Cs™1 = _a(dmida)

Cs~1 = _Admida)

DPPS Trial 1 7-16-18

175

150

125

100

75

25

30 40
Pressure(mN/m)

DPPS Trial 2 7-16-18

120

100

30 40
Pressure(mN/m)

DPPS Trial 3 7-16-18

175

150

125

100

75

25

o
5

30 40
Pressure(mN/m)

DPPS Trials

DPPS Trial 1 7-16-18

5

Pressure (mN/m)
<]

20
10
OD 40 60 100
Area (A*molecule)
DPPS Trial 2 7-16-18
60
50
40
£
z
E
o 30
5
2
2
o
20
10
UU 40 60 100
Area (A%molecule)
DPPS Trial 3 7-16-18
&0
50
E 40
z
B
% 30
8
o
20
10
DD 40 60 100

Area (A%molecule)




Pressure(mN/m)

DPPS Reproducibility

DPPS Reproducibility

607 —— Trial 1

Tral 2

50 4 —-- Tnal 3
40 4
30 4
201
10 4

0 T T T = T t
0 20 40 60 80 100

Area(Az/molecule)




-1 = _A{dm/dA)

Cs

100

Insulin-DPPS 10-90 on Water Trial 1 7-16-18
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Insulin:Cholesterol 10:90 Ideal Mixing
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